[ Efficiency vs vertpos |
- 0.2

Q0.1 e roseeneensd UURRE
ek : : :
O o e

.............................................

%Mﬁ'

Q -
§0.14
o
£0.12
0.1
0.08
0.06§
0.04
0.02F

: ThoL :
o OFtrmul . .5k R
T MEET LAt R R I T
o oETFH - H T - i...‘"::; [
T L} ! ﬁ o
08: ; it TI4E
1072 1 10 0?
TP vertr (cm
—=— DQM_MKFIt_TTbase
—e— DOM_mKFit_TT retrainOldFiles125
Efficiend —— DQM_mKFit_TT retrainNewFiles125
—— DOM_mkFit_TT retrainNewFiles125AndSQCD
~ 0.7 :

$0.09
(2]
>0.08
>
2
§0.07
o
£0.06
(]
0.05
0.04
0.03
0.02
0.01

.0l
1
0.9
0.8 : d : d
%735 10 20 30

TP vert z (cm)

2 T T

Ratio

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

Ratio

Sim. PV z (cm)



	Contents
	Page 1


